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t=F 80. 2 69

IR 73.2 66

Wl 80. 4 72




FHEBRST (KAL)

[T Y5 T VAR N G A V1 TR+ W57 N I 479 %5 95"
| 2 Btk 72.4 71
2 2 X 84.6 70

3 2 EES 65.6 63




FHEBRS (KAL=)

TR 5 A | H RS RS | RS
1 KA 87 74 81.8
2 FHE 2.2 73 72.52
3 Wt 84.4 76 81. 04
4 2] 7 7 7
5 Ve 83 73 79
6 SeEE 80. 4 76 78. 64
7 FH 89. 8 82 86. 68
8 SR 76. 8 7 76. 88
9 3 X1 DLIL 82.6 74 79. 16
10 3 PNERIIE | 81.6 78 80. 16
11 3 = 80 83 81.2
12 3 iy 66. 8 76 70. 48
13 3 NG 75.8 7 76. 28
14 3 BT 78. 8 75 77.28
15 3 2P 78.6 7 77.96
16 3 R itz 76. 6 7 76. 76
17 3 SN 7 81 78.6
18 3 52 77.6 79 78.16
19 3 Tk 77.6 76 76. 96
20 3 K Hi 82 79 80. 8
21 3 = 79. 4 73 76. 84
22 3 KSR 80. 4 7 79. 04
23 3 Triisk 81.6 78 80. 16
24 3 M= 7.2 73 75.52
25 3 FE 81.4 80 80. 84
26 3 ERS 80 76 78. 4
27 3 Wbk o 80 74 77.6
28 3 X 5 68 76 71.2
29 3 EIRIA 76. 6 74 75. 56
30 3 TRy 78. 4 73 76. 24




FABRST (KA

HRITS | ke | 2 & |EARS: | B IR RS | St
1 4 QARG 73 72 72.6
2 4 FNEL 81.4 75 78. 84
3 4 T 65. 2 68 66. 32
4 4 HIE 73.2 73 73.12
5 4 L4 66. 2 71 68. 12
6 4 T2k 82.4 64 75. 04
7 4 N 76. 4 76 76. 24
8 4 LA 83.6 63 75. 36
9 4 5 85. 8 76 81. 88
10 4 &S 72.8 78 74. 88
11 4 AT IH 75.8 68 72. 68
12 4 FRZ 83. 4 70 78. 04
13 4 EES 69 78 72.6
14 4 pasct} 73 67 70.6
15 4 7K 5 FH 87 76 82.6
16 4 N £ 83.6 72 78. 96
17 4 BN 86. 8 79 83. 68
18 4 Wi 80. 2 68 75. 32
19 4 i F ik 74.6 71 73. 16
20 4 (ER7 69. 6 71 70. 16
21 4 ) 71 73 71.8
22 4 H 84.6 76 81. 16
23 4 I 85. 2 75 81.12




